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L] (S R 5.2.3) RO 2 BRI f(z,y) IKHLUT, fz,y) =0 TEE KK
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(0) flz,y) =22 — 22y +y* =1 (—oco<z,y<oo) (0,1)
(2) flay)=ve+yy—2 (20,5920 (1,1)

(4) f.y) =log Va2 +y? T (2) (@ £0) (1,0)
(5) flr,y)=xey —y+1 (—oco<uz,y<oo) (—1,0)

DENENOBBE y = y(v) KOVT, WEFFETIIE, ZhoEThE
hokd k. F7, DENEND f(z,y) 12DWT, Hifk f(z,y) =0 LOED y D
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(HEE I 5.2.13) 7252 Y a0REFRBEE VT g(z,y) = 0D FTO f(z,y)
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(1) glz,y) =2* +y* = 1, f(z,y) = vy

(3) g(z,y) = 32° — 22y + 3y* — 24, f(z,y) = 2y

(6) g(x,y) = 2> +y* = 2, f(z,y) =2° + 3



